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02 QIZHITHOH R E R B S 2= 50,000 50,000 0
OQLIZoITHH E A S 50,000, 000& 50,000
ATt 22827 £ X 4,000 4,000 0
201 LB-2EH| 4,000 4,000 0
01 At 2t 2l 4,000 4,000 0
ORSTHEAN L 2RHNELY XNAN R0
20,000& * 200% 4,000
NATHE ALEOHH &2 13,500 12,750 750
201 £B-2%H| 13,500 12,750 750
01 At 22l 13,500 12,750 750
OXAHTHL ALXCHEl EE 5,500
OEEE MH(KEE HASE)
1002 * 2& * 5,0000H 1,000
O 70,0002 * 507K A& 3,500
OO IH [T 5,000& = 2004 1,000
OS2 &8 4,500
Oecl& 100& = 10,0000H 1,000
O8s+Y 70,0002 * 500 & 3,500
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S OFM X M}

I THol & T o

Sl XFATHGH CHHIEH A 2 &t (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZdUdH fUHRAEH 29Y 2,000
ORHRaEH 20T B=FH|
10,0002 = 100K 1,000
OZdU E22(ZAH)ME
5,000 * 2004 1,000
oxXxoog =22 HEH 1,500& = 1,00004 1,500
KNATE AEAES 22 123,860 174,486 A B0,626
201 et 8,032 27,132 A 19,100
02 32%H| 8,032 27,132 A 19,100
Of+=X 22224 4,032
Os£2 dIIe2
46,000 « 104 ~ 12€ 552
Oortxgd &2
230,000 = 1J0HA + 12& 2,760
OS82 30,000 * 20 A « 128 720
OX&IEEH KX 22l
500,000& * 24 A = 43| 4,000
401 Al HI L £ 0HHI 115,828 147,354 N31,526
01 Al& b 115,000 146,300 A 31,300
S SX2el 24t
5,000,000 = 1402 70,000
OXTREA F2MOUAHAIAE 2SALY
45,000,000 45,000
03 AlIEE2HH] 828 1,054 N 226
OfRx=X SX&e2H S
115,000,000 = 0.72% 828
Lo Al & 1,000 16,000 A 15,000
206 M = dl 1,000 1,000 0
01 X2 H| 1,000 1,000 0
OMHUMEAIES U (SHA, HHHEH S)
1,000,000 1,000
2 2=Tloll ol &A 30,000 30,000 0
403 XX SHHS K20 & 30,000 30,000 0
02 BI2SOHUSASEUSEAE Y 30,000 30,000 0
O&L==EEHET &Y 30,000,000 30,000
EZELBEAMA(EH|) 60,132 60,732 A 600
= 30,066
Al 30,066
307 QI2t0| & 60,132 60,732 A 600
= 30,066
Al 30,066
06 282 60,132 60,732 A 600
OELdiEE 60,132,000 60,132




S OFM X M}

I THol & T o

&2l KHSATHOH CHHIEH A 23t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 30,066
Al 30,066
Ny SgHE 29 600,000 0 600,000
& 2K 2 Y| 600,000 0 600,000
gy 600,000 0 600,000
OZ+HML ZeHE 2B
600,000,000 600,000
StEE ALLCHHI EHAI 23 249,842 266,088 A 16,246
= 3,502
< 8,641
Al 237,699
Zzelt g2og 29 49,809 47,130 2,679
L2 H Y| 20,149 43,530 A 23,381
01 At 2teltl 13,849 36,180 A22,331
Ostst=z 2t g3 29 9,420
OZ M= 3,000
-JI& 300,000& = 1 = 63l 1,800
- 200,000& = 1¥ = 63l 1,200
OztetsZzd 222 A
1,500& * 4,000% 6,000
(OF=E 1o 70,000& = 63l 420
OoststEszad R3A 2& 670
Og+=9 70,0003 = 1004 70
O3 &l M 150,000& * 44 600
OststAtD U8 E5&EH 2 1,659
O3tetotgt 85,0002 * 3H 255
OY=0tATa(ZHEE) 205,000& * 3K 615
OststE2Es= 27,0008 * 3¢ 81
Ostst & 6,000& » 3¢l 18
OztatE st 230,000& = 324 690
OststSEANEE 22 F2ALE |22
2,100,000 2,100
HAHZ S HI 6,300 7,350 A1,050
OststE=H 2l X 2s 3lo&3A Al
7,000& * 50 * 62| * 30 6,300
04 i 2,160 2,400 A 240
= LH 04 H 2,160 2,400 A 240
ORdiztet= 2 AIYE tHEH BRF=E O
20,000& = 3% = 36¥ 2,160
AHebS S H| 27,500 1,200 26,300
A E S FH S 27,500 1,200 26,300
OSIStSTANGHE 22ES TFEH P
1,500,000& = 1CH 1,500




SN OHEH D
=]

A THOH Y AL ol e
Sol: RS EE AR BIAl 25t (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
FEEEEERESEFIEE)
5,000,000& = 1CH 5,000
O3S ZSEANGE 22 BEANAE 2=
21,000,000& 21,000
HEE ==0| AFD0E 167,729 193,046 N25,317
101 2124 d| 134,629 155,316 N 20,687
04 JIZtHI2E2XNEE > 134,629 155,316 N 20,687
OWEEZES=0| 220124H|
48,2803 * 28" » 90 121,666
o4 12,963
OHZdEE= 121,666,000& * 3.035% 3,693
OIIYEE=Z 3,693,000& * 6.55% 242
O=01H=z 121,666,000 * 4.5% 5,475
OnEEE 121,666,000& * 1.5% 1,825
OMEE 121,666,000& = 1.42% 1,728
201 LEr2 Y| 18,340 16,470 1,870
01 At 22l ] 11,840 16,470 N4,630
O=2=0] ¢t™ XNEuWs 29 3,750
OZAZ 2,450
=J|& 230,000& * 1Y€ = 73] 1,610
-1 120,000& * 1H = 73] 840
[@FSEEON| 100& = 3,0000H 300
ONESE(HEY HLEE ,22)
1,000& * 1,00004 1,000
o8 +9 Mz 70,000& * 3504 2,450
Ot A X2 300,000& * 3H 900
osEEgZE #*¢ 800& = 4,000H 3,200
O2=0| MY ZRE S 1,540
Oo=22= 40,000& = 28%Y 1,120
O22EHI(2X, S2et)|, && 5)
15,0008 * 289 420
02 3524l 6,500 0 6,500
O2=0| HEAIEZ2 AEHI 50,000& = 204 1,000
OfIE8EX&T HH| 100,000& = 5504 5,500
202 04 d| 2,000 2,000 0
01 2L Y| 2,000 2,000 0
O2=0| StEAIDHEY dR2FE ol
20,000& = 5 x 20 2,000
206 M = Hl 12,760 14,260 A 1,500
01 XHZ I 12,760 14,260 A 1,500
O=2=0] A2 22 2
1,500,000& * 44 6,000




DA ObA

Mz THOH &L THY ol
2 Rolstst=& AFDHHl EHA 23t (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O2=0 2YEXN F¢ 40,000 * 5004 2,000
O=2=0] HNESLSHHE &EX
200,000 = 1504 3,000
O=2=0 RHz T 2¢! 55,000& = 32 1,760
HER S0 AHDME(=2D) 7,004 4,392 2,612
= 3,502
< 1,051
Al 2,451
201 gBt2Ay| 7,004 4,392 2,612
= 3,502
= 1,051
Al 2,451
01 AF 2t 2| H| 7,004 4,392 2,612
O=2=0] AHEAIE & X 7,004,000& 7,004
= 3,502
< 1,051
Al 2,451
HEH 20| AHDUE(EH]) 25,300 21,520 3,780
= 7,590
Al 17,710
201 LBt 9| 25,300 21,520 3,780
< 7,590
Al 17,710
01 AP 22| d| 25,300 21,520 3,780
O=2=0 &= L AEEXNTHS &
25,300,000 25,300
= 7,590
Al 17,710
HESHAY (Ot ™ ) 86,606 50,326 36,280
ol 2 HH| 18,670 0 18,670
oI d| 18,670 0 18,670
101 124 4] 18,670 0 18,670
04 JI2ZtHIZ22NEES 18,670 0 18,670
O=2%t4al "HIA A 17,370
oJles 48,2803 * 262 x 128 15,064
O™ A SIHYI 200,000 = 23| 400
Oo=2XEE 300,000 = 13| 300
Oo=2odz28d=2 15,064,000 * 4.5% 678
OAHedBgE==2 15,064,000& * 3.035% 458
OIAEEEH 2 458,000& * 6.55% 30
onsggeg=z 15,064,000 = 1.5% 226
OMIHEEREE S 15,064,000 * 1.42% 214
OE& &3 1,300,000 1,300
pICET 67,936 50,326 17,610




SN OHEH D
X XH: SHX
(=R B

ool dimze (2ol @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JlE&l 67,936 50,326 17,610

201 £B-2d| 29,116 21,286 7,830

01 At 22l 29,116 21,286 7,830
OJl=2ge+a8AY (JI=&Hl) 14,500, 000& 14,500
o=zt (JIE&Hl) 14,616,000& 14,616

202 04l 31,320 24,840 6,480

01 = LH o4 1l 31,320 24,840 6,480
OJIEZ 31,320,000 31,320

203 R =&l 7,500 4,200 3,300

01 J22F PR =8I 3,300 0 3,300
OJIEH(45) 3,300,000& 3,300

04 FN2IEHSFAH 4,200 4,200 0
©J| & (302!0l3at) 350,000& = 12& 4,200

HREsS(tdE =) 3,959,868 3,633,067 326,801

HEAHHK = 3,959,868 3,633,067 326,801

LIS A X & 3,959,868 3,633,067 326,801

702 JIS3HES 3,959,868 3,633,067 326,801

01 JI3dE= 3,959,868 3,633,067 326,801
OM:t2edIzg BES 3,959,868,000& 3,959,868




